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Part A

1.(1.5) “The technologically less developed country has a comparative advantage in the good where it has a lower disadvantage.” Do you agree? Explain.

2. In the context of the ricardian model. Consider the following unit cost matrix:


Machines
Clothes

US

  90h

  100h

China

 165h

  110h

a)(2,0) “If the production of one unit of cloth is transferred from the US to China, the two countries will have to spend 10 extra hours of work (110h – 100h). Hence, that transfer will cause a loss for the two countries considered together”. Do you agree? Explain.

b) (0,5) How will workers react if, at a given moment,  the wage in the cloth sector happens to be higher than in the machine sector?

c) (1,5) Assume that the international relative price of machines is equal to 1,5. Calculate the number of hours of work saved in each unit imported by China and in each unit imported by the US.
d) (1,0) Keeping the assumption that the international relative price of machines is equal to 1,5, suppose the US imposes a tariff in order to promote the domestic production of the imported good. Explain the consequences of this measure for the US economy.

e) (1,0) If, instead of a tariff, the US applies an “equivalent quota”, what will happen to the price of the imported good in the US  domestic market? Explain the mechanism that generates that result.

f) (1,0) Compare the economic effects of the tariff with those of the “equivalent quota”.
3. In the context of the ricardian model, consider the following example:

Goods



5
4
3
2
1

US Productivity

8
7
4
3
2

China’s productivity

3
3
3
2,5
2

If the US wage is $2, the Chinese wage is 1Y and the exchange rate $1 = 1Y, which goods will be less costly to produce in China ? And in the US? Explain.






Part B
4. (2,0) In the context of the specific factors model, consider a labour abundant economy and explain the effect of trade on the real income:

a) Of the factor specific to the import-competing industry.

b) Of the factor in which the export industry is intensive.

c) Of the factor specific to the export industry.

5. (3,5) The increasing trade within the EU has been associated with an increasing geographical concentration of technological and skilled intensive sectors in the core of Europe (France, Germany, North of Italy, etc.) and of non-skilled intensive sectors in peripheral countries like Portugal and Greece.
a) Indicate two theories that may explain this phenomenon, and explain your choice.

b) In the context of each of these theories, explain the effects of that trade on the welfare of the EU as a whole, as well as on the welfare of each of the two types of countries (the periphery and the core).

6. (2,5) “In the four years following the creation of the Mercosur, trade among its member countries tripled. However, it is possible that Mercosur has had a negative effect on the welfare of its member countries.” Do you agree? Explain, illustrating your argument with a graph.
7. (2,0) In the 1990s, the Brazilian government created high tariffs on computer imports in order to protect its domestic “infant industry”.

a) Which is the theoretical justification for the protection of an “infant industry”?

b) “Instead of using a tariff, it would be preferable to protect the domestic computer industry with another instrument.” Do you agree? Explain
